
8594 8594.5 8595 8595.5 8596
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

7290

7290.5

7291

7291.5

7292

7292.5

7293

7293.5

7294

ru
n

run:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7292}



8594 8594.5 8595 8595.5 8596
cyclenum

118.8−

118.6−

118.4−

118.2−

118−

117.8−

117.6−

117.4−

117.2−

117−

116.8−

116.6−

us
l_

1X

usl_1X:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

7.5

8

8.5

9

9.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

53

53.2

53.4

53.6

53.8

54

54.2

54.4

54.6

54.8

55

55.2

us
l_

4e
X

usl_4eX:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

13

13.5

14

14.5

15

us
l_

4e
Y

usl_4eY:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

38.5−

38−

37.5−

37−

36.5−

us
l_

12
X

usl_12X:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

7290

7290.5

7291

7291.5

7292

7292.5

7293

7293.5

7294

ru
n

run:cyclenum {run == 7292}



8594 8594.5 8595 8595.5 8596
cyclenum

133.5−

133−

132.5−

132−

131.5−

us
r_

1X

usr_1X:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

6.5

7

7.5

8

8.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

191.6

191.8

192

192.2

192.4

192.6

192.8

193

193.2

193.4

193.6

193.8

us
r_

4e
X

usr_4eX:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

8.5

9

9.5

10

10.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

38−

37.5−

37−

36.5−

36−

us
r_

12
X

usr_12X:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

7290

7290.5

7291

7291.5

7292

7292.5

7293

7293.5

7294

ru
n

run:cyclenum {run == 7292}



8594 8594.5 8595 8595.5 8596
cyclenum

32385.5

32386

32386.5

32387

32387.5

us
l_

co
il1

usl_coil1:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

6551

6551.5

6552

6552.5

6553

us
l_

co
il3

usl_coil3:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

4136

4136.5

4137

4137.5

4138

us
l_

co
il4

usl_coil4:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

664.5−

664−

663.5−

663−

662.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

14664

14664.5

14665

14665.5

14666

us
l_

co
il7

usl_coil7:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

7290

7290.5

7291

7291.5

7292

7292.5

7293

7293.5

7294

ru
n

run:cyclenum {run == 7292}



8594 8594.5 8595 8595.5 8596
cyclenum

28477.5−

28477−

28476.5−

28476−

28475.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

5524−

5523.5−

5523−

5522.5−

5522−us
r_

co
il3

usr_coil3:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

3764.5

3765

3765.5

3766

3766.5

us
r_

co
il4

usr_coil4:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

835−

834.5−

834−

833.5−

833−us
r_

co
il6

usr_coil6:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

17728.5

17729

17729.5

17730

17730.5

us
r_

co
il7

usr_coil7:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

7290

7290.5

7291

7291.5

7292

7292.5

7293

7293.5

7294

ru
n

run:cyclenum {run == 7292}



8594 8594.5 8595 8595.5 8596
cyclenum

422.5−

422−

421.5−

421−

420.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

72−

71.5−

71−

70.5−

70−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

24

24.5

25

25.5

26

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

484.4−

484.2−

484−

483.8−

483.6−

483.4−

483.2−

483−

482.8−

482.6−

482.4−

482.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

95.5−

95−

94.5−

94−

93.5−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

24.5

25

25.5

26

26.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7292}



8594 8594.5 8595 8595.5 8596
cyclenum

169.6

169.8

170

170.2

170.4

170.6

170.8

171

171.2

171.4

171.6

171.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

43.2

43.4

43.6

43.8

44

44.2

44.4

44.6

44.8

45

45.2

45.4

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

12−

11.5−

11−

10.5−

10−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

182

182.5

183

183.5

184

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

23−

22.5−

22−

21.5−

21−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

11.4−

11.2−

11−

10.8−

10.6−

10.4−

10.2−

10−

9.8−

9.6−

9.4−

9.2−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7292}



8594 8594.5 8595 8595.5 8596
cyclenum

232−

231.5−

231−

230.5−

230−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

85.5−

85−

84.5−

84−

83.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

4−

3.5−

3−

2.5−

2−12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

7

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

441.4−

441.2−

441−

440.8−

440.6−

440.4−

440.2−

440−

439.8−

439.6−

439.4−

439.2−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7292}

8594 8594.5 8595 8595.5 8596
cyclenum

7290

7290.5

7291

7291.5

7292

7292.5

7293

7293.5

7294

ru
n

run:cyclenum {run == 7292}
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